A £ 0 & A

Al A

2024 Ol SHEIIZAESES EX
M 23
33 Hol= Arast
celr HA AHF(SFIIZAESERN) (S & 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
31 22,853,120 21,668,160 1,184,960
= 1,852,500
== 999,640
[Ea 20,000,980
HIlI=2 A+2st 15,783,120 14,054,479 1,728,641
= 1,852,500
< 999,640
T 12,930,980
A HFY(BHIIZAEELSH) 1,714,521 2,586,354 A\871,833
= 253,500
== 60,440
o 1,400,581
HIIZ Xl A 411,475 257,124 154,351
101 e124d| 234,245 0 234,245
M ORINZZ2NSE S 234,245 0 234,245
S 2 A JI2ZHM 21|
78 8803282 x4~ 123 106,015
O8 IJt=2&4 JIZ2HHl 4 28=
300,00021 42 122 14,400
OsaRYLY
78,8803 x42 x4 H 1 .58 x 122 22,718
OF JZBA JI2HH L=l (HEEI)
100,000 4 & =23] 800
OSFZHEY JI2HMl Q124H]
78,8802 x282 x3& * 12 79,512
OFZHES JI2HMl 40 282
300,000 «3F 122 10,800
201 el 126,480 114,100 12,380
01 At2telt] 100,580 95,400 5,180
Odgt=3=H| 25,600
—A&D| HHESUE 24X R EEE MNH
150,000 *5IH A+ 10 S H 7,500
—SESI| e EX
150,000 5 A+ 10 S H 7,500
—ZR ASA 2| )| AR
50,0002« 1CH =122 600
—MEES HHEAU EES HMH
1,00024%10,0000K 10,000
OS2SR L=HI(¢EE]) 14,880
urakcl 100,000 *31& #2323 6,200
—&gs 100,000 31 +23] 6,200
— M9 80,0002 312 +1& 2,480
OdgH =oliHDII= XclHE IS
=g 100,0002*12]%10H 1,000
OFABAE 283 7
500,000& x 122 6,000




SN BHD
M HIlZ2 AHEs
Chol: A ME(BAIEAILSEEH) (12l M2
SA - BE - 9(3H) - KA - BES Ol &t G o B2
OBAZAR YADAT 2
900,000 *123] 10,800
OFLSANE AEHEI EH 2,000
OM&ES 25 X 800,000& #52] 4,000
OoroIAT THAIZ MY 25 +
100,000& * 122! 1,200
OMgE dl= M& =23 7+
150,000& * 122 1,800
OHASE(HY UNZ 5) 2
300,000& 123l 3,600
OMEES = M| RS>
300,000 +7CH+12& 25,200
QuataMd =3 4,500
—3St&EX + 1,000, 000& *32] 3,000
—2H&X Y 500,000&*33l 1,500
02 2324l 25,900 18,700 7,200
OHJI=galt| 3,300
OHIIS (42, 1Y) HERLS &=
10&*200,000kg 2,000
O ZEZRA FAHAE wcl+=d
1,000,000 *33! 3,000
O2Y S| ZAIDtHet A&l RIE=
600,000& 103! 6,000
OoMIIra S 11,600
—="8SI| ZAIPtH2t MRS
200,000 *122] 2,400
—MHEES = NED| MRS
50,0002 *7CH+12& 4,200
~UIEEDIE WEBHE 2 NEE 8|2
= Aot 23 500,000& *10& 5,000
202 o4t 3,770 3,770
01 =Ll 3,770 3,770
OBHDZ2E MAT| 28 OfH|
130,000 *29H 3,770
206 =4I 7,400 7,400
01 =4I 7,400 7,400
OHg&s, HEX=HE & 7
100,000 5074 5,000
OMetls M ME(Otdant)
2,000 +1,000kg 2,000
OUHEE ZAE NS +L
20,0003 *1071x23] 400
301 LEtE2NF 5,580 624 4,956
11 HAIAHIXIRA S 5,580 624 4,956
OO0 AT A= SHAL & A
8,000 13 63| 624
OZH0IE I = 4,956




SN BHD
M HolE Mgt
chel HA P (BAIIZANLESLSIA) (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—4H 8,000 64! x22 1,056
— =9l 50,0002 x1&x22& 1,100
— Xt 850,000 x2& 1,700
— Xl 50,0003 x22H 1,100
401 AIEHIKL 20 30,000 30,000
01 Al&HI 30,000 30,000
O=ESI| ZAIPtHCH & Sel& ZX
5,000,000 ~6CH 30,000
405 AtatE = 4,000 5,000 21,000
01 ML ESFSHI 4,000 5,000 21,000
OS24 S MEII 28 2,000
Olgd 28 AIRA 2201(101) 2,000
SCOHTHOH Ol 4,800 0 4,800
201 2egh=3| 4,800 4,800
01 At22t2lt] 4,800 4,800
OsBEFA Se2A2H 4| 2,400
OSUMo N ES 2,400
SEHSE 2l 175,000 200,000 A25,000
206 M=l 120,000 125,000 A5,000
01 M=4l 120,000 125,000 25,000
OXDISENSE M= 120,000
307 212+01& 55,000 55,000
05 2ItRIE = 55,000 55,000
OSENSE & @725 SSUd /S 55,000
QEmHDIZS 2el 220,900 994,640 ATT73,740
201 er23| 8,400 10,140 A1,740
01 At2teltl 7,500 7,500 0
OUEHII=Z AEIH M=
500& 15,0000H 7,500
02 S3=gHl 900 2,640 A1,740
OUEHIIZ HXNZMAHIA =8 &
75,000& %122 900
401 Al HIZL S 0HYI 212,500 962,500 A750,000
01 Al&HI 212,500 962,500 750,000
OXatd !X 2el & i 20,000
OUEHIIS(HSM) ISl
150,000 *700& 105,000
OSgHIIS (X, UHE) A=Kl
350,000 x250= 87,500
Faxtg WA & A2l 257,376 257,376 0
201 2egh=3| 257,376 257,376
2 35244l 257,376 257,376
O3AXE FFM| 750,000 *17CH« 122 163,000




SN S8
M HolE Mgt
chel HA P (BAIIZANLESLSIA) (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OBAXIY SAl B4
500,000 x17CH*12& 102,000
OEAXIZ PSHHIA 23
16,5003 12CH+ 123 2,376
H2ss =8 & &d 31,612 31,612 0
301 22N 31,612 31,612
14 JIEt2 8= 31,612 31,612
ONgEs =8 dd=
(7021150, 000kg)+(502!* 100, 000kg) 15,500
Osouly 43 BA3
(1,600 +8,000kg)+(3,6802 *900kg) 16,112
HEHIIZ 2cliE =ROIAL 186,358 167,173 19,185
== 16,940
o 169,418
101 e124d| 186,358 167,173 19,185
[ 16,940
T 169,418
M ORINZZ2NSE S 186,358 167,173 19,185
OHdEHIIZ8 ZelthEs S<R0IA 186,358
— o124
9,800 *5AI2Hx 1B 262« 123 169,198
= 16,940
o 152,258
-4 282 130,000& x11E* 120 & 17,160
IsHIl=Z =HXel 50,000 50,000 0
== 15,000
= 35,000
201 er23 | 50,000 50,000 0
= 15,000
[Ea 35,000
01 AtR2t2|HI 50,000 50,000 0
OgsHIIZ +=H & L] 50,000
= 15,000
o 35,000
SsEHHE =HEd= 72,000 72,000 0
= 18,000
= 18,000
o 36,000
301 EtE NS 72,000 72,000 0
= 18,000
= 18,000
[Ea 36,000
14 DBt 2 a3 72,000 72,000 0
OgsHbled =HEd 802 +900,000kg 72,000




M 23
B EDl2 Ks
SRl BA M (SEI|EAILSESIH) (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 18,000
=S 18,000
s 36,000
SSHotY &= A2 35,000 356,000 0
= 10,500
= 10,500
o 14,000
401 Al HIZ R OHHI 35,000 35,000 0
= 10,500
= 10,500
Ea 14,000
01 A28l 35,000 35,000 0
Og=sHbld Hotd £X
5,000,000 79K 2= 35,000
= 10,500
= 10,500
[Ea 14,000
ot&ot= M)l SatAte 270,000 321,429 A51,429
= 225,000
s 45,000
101 ©1AH| 70,992 84,272 213,280
= 58,990
Ea 12,002
M ORNZZ2NSE S 70,992 84,272 A13,280
Odtt FF4HD| = 2I124]
78,8802 x20H x45 70,992
= 58,990
o 12,002
201 er=23y| 15,000 20,000 A5,000
= 14,000
s 1,000
01 AFS2t2ltl 15,000 20,000 /5,000
Oodt7 fR40| =HIE St
4,000,000 *3CH 12,000
= 11,200
s 800
Ottt FR4YD| +=AH=2S 3,000
—MoISE FY 1,000 «800CH 800
= 700
s 100
—SYSI| X ¢UHE S EX
100,000& *109H 2 1,000
= 980
= 20




2AM: SE1
M HOIZ2 AHAS
Cel: FA B (SZINIZALSESIAH) (EEEE))
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
—EHAEE 2L 200,000 63| 1,200
= 1,120
= 80
401 AIEHIZLE0HY] 184,008 217,157 A\33,149
= 152,010
= 31,998
01 Al&H| 184,008 217,157 N33, 149
Odt7 ELMHD| |t 2l (580E) 184,008
= 152,010
= 31,998
HYI2 MelAd 2H(SEIIZAIEELEH) 14,068,599 11,468,125 2,600,474
= 1,599,000
= 939,200
= 11,530,399
HOIS2HelAlE 22 1,232,246 670,386 561,860
101 @1244| 326,341 0 326,341
04 J12tHI22sES 326,341 0 326,341
omgs4d4 J12t2 X 25
78,880 252 x 12 x 12& 283,968
OoMgsdY J12ZEMZ22 Xt 401 283
283,968,000 *11% 31,237
OMes4dY J12tZ22 X HaxlsH| 3,000
Oon=| 6,336
— &3 130,000 * 12 23| 3,120
—&gs 100,000& * 12 *13] 1,200
—OtNME Y OFMAZ2Y
168,000& 12 *13] 2,016
OZ2Z2 X EXAH2H |
150,000 * 12H 1,800
201 LBr2Ab| 462,164 389,430 72,734
01 AFR22teltl 116,820 83,684 33,136
Ogt=2H]| 95,970
—&EL 2HHAH27NER)
220,0002x 10 A +4F D | 8,800
—EES YRS (27MNE2)
200,000 x 100 A+ 128 2,400
— K E2=(2004E=2)
150,000 *4 ) A %42 D | 2,400
—HE & ELQLAHT(23IE2)
14,500,000 x20H A~ %13 29,000
—OHE & OHEDIA S22 A
510,600 *x2J 213 1,022
— N HHEHE MM XES SE2HA
770,000 %2 A +4S2 D | 6,160




M 23
M HolE st
Sl HII2 HMEIAIM 2 (BAIIZALSHSIH) (o) &)
M- B SRAEA) - HRAR - B2 of v G o HIDE2
—AZ S HEAE FIIBA ===
16,214,000& « 10 A +13] 16,214
—SASADIXCIAIZ ZIIZA
2,000,000& * 1 13 2,000
—SAEFHDIS g8t R3] F&=
g 100,000 +8& 800
—22%s AER
14,3003 * 1 A+ 123 172
—Z=D1(500), 321 FH0I(6h) el =
51,0002 1104128 6,732
—IHEE 2oPHIRY
400,000 123 4,800
—OE =ERe 24| A%t
585,000 x12/+6 3,510
—dojerdae| 49 700,000 * 12 8,400
—HZ& OV ==& 140,000« 128 1,680
—IJEY =2 140,000« 12& 1,680
—3ld ABE ¥ AUSIHE X3 SU=
50,0002 x4 7| 200
OHPISXCIAE 2228 7Y 5,400
-T2 EHFY 240,000 *22]+55 2,400
—A&2e] 224 HIE 7
750,000& 42 3,000
OSUMaioe 25 P (HEE R HdEF)
,000& x20 2 +4E 7| 3,200
OUEE & HSHEE Agaa3=E
500,000 24 2+ 13] 1,000
OSASREIIS44E URES NN
250,000 455 A 11,250
2 s5=34l 345,344 305,746 39,598
O332= % HAl 138,000
— & BAE AE23
500,000& * 122 6,000
—HEEAEUH HIIQ3(E= ¢ AMS0HE
&) 11,000,000& «12& 132,000
OAlE &8I Xl 67,000
—MEEHEY AIE3Hl RA2ci]
2,000,000& *4=2 7 8,000
—dEHIIZ e X2/
10,000,000 * 104 2 10,000
—HEE HA24dl & d& X2l
5,000,000& 14 5,000
—NMEESHEZ =AY
10,000,000 * 10 2 10,000
—&E= MelAld Xzl
12,000,000 * 104 2 12,000
—S42 XA FAl2cl|
12,000,000 * 100 2 12,000




S EED
Zal: M2 KR

Sl HII2 HMEIAIM 2 (BAIIZALSHSIH) (o) &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—HEE N SHiD
2,500,000& «20 A+23] 10,000
OligHll=Z MNE2FEs 107,944
N ENE
15&1%5,600,000kg*1. 134 & X = 94,920
—SHEFHVIS SSHIAE
253 %317 ,000kg*1. 134 E X == 8,956
—N2sSdEd
152 %240,000kg+1. 134&HE X == 4,068
OFHl KRl (24012, 2L02, LAXEH,
SEXE) 400,000 ~6LH* 122 28,800
Ozl 282 (24012, 22U2)
900,000 *4CH 3,600
206 M=l 46,756 45,956 800
01 MZH| 46,756 45,956 800
Ollgld &E%3 540,000 65 3,240
OAEZZ HEs73a
700,000 *4 K 2,800
OME& JtAZE 2 100,000 «9H 900
OHJISXMeIAE SHMAN, RS
90,0003 * 152t A 1,350
0S4 HHE WAL (45) 72
11,0002 4862 5,346
OMEE 2elde 28 DHH(40kg, 500kg)
7,000& *2,0000H 14,000
oNgEss ¢=)| Z2HE2
1,000,000 x4 71 4,000
OSAEFRHIIZ =HEI| 7Y 15,120
—HEFA2I(HLE 1202IH)
40,0002 *90 K 3,600
—HEFHSEI(LL2 602IH)
32,0003 *360H 11,520
401 AIZHIX S0HH 390,000 235,000 185,000
01 AlZ2H| 390,000 235,000 155,000
OUEd &=2 & SAt 45,000
ONSESHEY HES 22F1) FH| SA
30,000,000 *1IH 2 30,000
OFE=Xclg &4 S 4l SA 70,000
Os4Excld g=J UM+
110,000,000 *14] 110,000
OSASRHIIZ Hel88 =1t 28 Hel
= 300,000 *L5E+0L 135,000
405 AHAHE S 6,985 0 6,985
01 TR ESF SHI 6,985 0 6,985
OHBAXE HIIM S W) 72
3,492,500 2CH 6,985
HIIZ XMelAld Cl2telE 1,189,530 1,091,539 97,991




S EED
=2 HII2 KRS

Sl HII2 HMEIAIM 2 (BAIIZALSHSIH) (o) &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 1,189,530 1,091,539 97,991
05 2IMRIE =3 1,189,530 1,091,539 97,991
OsSAl=FHIIZ 8,28 & M2AME 2
g 22l /S 99,127,500« 12& 1,189,530
HEHIIZ ZH 22AE =N 6,878,000 3,977,000 2,901,000
308 AtAIEHMSOIE 6,878,000 3,977,000 2,901,000
07 MXIHHIPE = 6,878,000 3,977,000 2,901,000
OaZAlE 293 dolle EE A 6,878,000
— A& ArIHI 4,878,000
—=eXE= 2,000,000
HOISX2IAIE (&57) 3,513,823 3,790,000 276,177
= 1,020,000
< 714,000
s 1,779,823
401 Al HIZL 01| 113,823 456,000 N34 T7
01 Al&H| 113,823 456,000 N34 77
OUIHIHEAE HEEX EX2HS S 113,823
—AF0EAIE IHEEX SEEAEY
5,30136,478m 34,923
—AREAIE AEEX FHEE &I
40,0002 *357| 1,400
—AAUEAIE AERX RHEEZE A
o e =9l 1,500,000& 357 52,500
—AREAE Z222 EXN+E 9 22,000
—AAHEAIE EXI=EMZ 2EEI
1,500,000& 208 Z&EEIHE el 3,000
403 TR SHMSAH=01H 3,400,000 3,334,000 66,000
= 1,020,000
s 714,000
s 1,666,000
02 S 2SOt et = & 2 E AL H] 3,400,000 3,334,000 66,000
Ot dEHIIZ= HEAE SESH 95 3,400,000
= 1,020,000
= 714,000
o 1,666,000
FIEHIIZ S& HH0I1LItASE Al 1,126,000 1,464,200 A338,200
= 579,000
= 225,200
o 321,800
403 AXIEHMSA=Z0l1d 1,126,000 1,464,200 A338,200
= 579,000
= 225,200
o 321,800
02 ST 2SO etA=2 A P E A I 1,126,000 1,464,200 A338,200




2A:

X XH -
o=

2F

HII=Z AHAs

ool HDIS MelAd 2(BAIIEAESEE) (Crel: a2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
g2 RIILBI0IItASIAIY S 3H
A 1,126,000
= 579,000
[ 225,200
T 321,800
SHEFHIIE XMl X& 129,000 475,000 346,000
402 QI2F X201 & 129,000 475,000 346,000
01 QI X2 AL E X (KEHITHE) 129,000 475,000 346,000
OJIE8 SASMdDI Meldl 22 129,000
—FHAAHS 600,000 *30AI CH 18,000
—CHAFA MICH 500,000 *30All CH 15,000
— 2 BHAITH 400,000 «240 A TH 96,000
Hees(Ez) 7,070,000 7,050,000 20,000
HEHHXIE(EZIIZAILEELSIAH) 7,070,000 7,050,000 20,000
HIISXM2IAIE F=HAY X&)Is dE= 7,070,000 7,050,000 20,000
(VPI=TSEy= 7,070,000 7,050,000 20,000
0 JI=sdEs 7,070,000 7,050,000 20,000
OHIISH2IAIE FHXIA FoIX&3(260M
o) 7,070,000




A £ 0l & AF & S

20243 20l4h BHBII=AIESESIA A

Al A

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

HH W

39,594,680
18,542,000

4,318,500
16,734,180

12,286,910

HoH W

39,594,680
18,542,000

4,318,500
16,734,180

12,286,910

27,307,770

HH W

2,381,000
1,272,000
304,500
804,500

2,128,000

253,000

of=2tH JHl ¥ =4

500,000

500,000

4| #
£
[

401 AIEHIH

500,000

500,000

01 A<l

500,000
500,000

500,000

H H W

—y

,655,000
,159,000
248,000
248,000

—

902,000

753,000

401 AIZHIZL 20

HoH W

—

,655,000
,159,000
248,000
248,000

—

902,000

753,000

O
Qj
4>
]
Hu
>

£19.4km

MW

MW

1,185,000
1,155,000
809,000
173,000
173,000
500,000
500,000
350,000
75,000
75,000

902,000

253,000

500,000

H2xt dolilz ==ot=22 FHI(1EH)

MW

226,000
113,000
56,500
56,500

726,000

A500,000

401 AlEHIYL S THYI

MW

226,000
113,000
56,500
56,500

726,000

500,000

01 AlZH|

226,000

726,000

/500,000




SN MBS
-
CHol: SIABIEH L RX(HHIIEAILSESIH) (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZZIHI(2H HI2H) BRRELH(2H,
HI=Z=) 226,000
= 113,000
[ 56,500
T 56,500
SOHEDISo=EEHI(BZIIZAILSE3) 27,576,000 3,708,000 23,868,000
= 17,270,000
[ 4,014,000
Ea 6,292,000
OIFOA ==& HFdAolS FH2S ote=XHeld 25,482,000 1,429,000 24,063,000
= 15,820,000
s 3,692,000
s 5,970,000
401 Al HIZL R 0HHI 25,482,000 1,429,000 24,063,000
= 15,820,000
= 3,692,000
o 5,970,000
01 A28l 24,595,000 1,229,000 23,366,000
Odt=Xcel7S 504, ot+=2=Z 26. tkm 24,595,000
= 16,243,450
= 3,536,775
[Ea 5,814,775
02 Zcltl 887,000 200,000 687,000
Odt=Xcel7E 54, ote=2=Z 26. tkm 887,000
= 576,550
= 185,225
o 185,225
o, 7,27 sHENE otk 1,342,000 1,015,000 327,000
= 940,000
= 201,000
o 201,000
401 A& HIX R0 1,342,000 1,015,000 327,000
= 940,000
& 201,000
= 201,000
01 Al&H| 1,042,000 915,000 127,000
Odt=Xeld 2004, ot==2= 20.4km 1,042,000
= 730,000
[ 156,000
Ea 156,000
02 Zeld| 300,000 100,000 200,000
Odt=Xeld 2004, ot==2= 20.4km 300,000
= 210,000




2A:

B Slag 22
Ol SOIEDIS I EHE| (B EI| ZAILSH3H) (o) @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 45,000
s 45,000
OIFDATH R M AGH S (2EH H ) S HEOLS St=E XA 586,000 909,000 A323,000
= 410,000
< 88,000
= 88,000
401 AIZHIZL SO 586,000 909,000 A323,000
= 410,000
== 88,000
o 88,000
01 Al&HI 586,000 909,000 A323,000
Odt=Xel& K4, ot==22 13.1km 586,000
= 410,000
=S 88,000
s 88,000
=af, Scl otXelAlE EXIAE 166,000 365,000 189,000
= 100,000
= 33,000
o 33,000
401 Al HIZ R 0HHI 166,000 365,000 189,000
= 100,000
= 33,000
Ea 33,000
01 A28l 166,000 355,000 189,000
Odt=xel& 100m /&, 22 5.2km 166,000
= 100,000
= 33,000
= 33,000
EZIIEAE 22l - 2SS (EFIIZAIESEFH) 9,637,680 6,450,910 3,186,770
FII=AE 29 3,582,380 3,073,610 508,770
201 ZBt=Ehl 1,778,880 1,681,610 97,270
01 AtR2t2lHl 99,920 88,070 11,850
Oget+=EHI 7,000
O=¢g 2=2M)| E22 ME
5,00001+200& 1,000
O=&2MSE =S At 3,000,000& 24 2 6,000
O==ZMSE=H AL JI=XIJHI
2,500,000 *20H 2= 5,000
Ogd 24 =+2(ELEL N2, %
HEIIBALSO0IAE &) 10,000
Odt=HMeld EetAAE AlZ=
200,000& * 104 Axx 12 24,000
Odt=xicld Xt A
800,000 «2CH* 12& 19,200




2A:

S Bt el
Gl SAI|IZAIE 22| - 2 (SHIIZAIZEESIAH) EER=E)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
OBZIIZNE 2289 89
110,000& *123] 1,320
O330t=XelAld &D|otd 2|5
500,000 *123] 6,000
OB £Y22 U 442 22
8,000& x7H 100 5,600
ORI e HRIE MepY
200,000 *30H 2~ 600
OB Hei= o 0iXE 2Y
200,000 *7H 1,400
OSEIIA=EI| MM
700,000 *4CH 2,800
O33otrHelAld 2FEI|IZ A
2,500,000 *43| 10,000
02 S324H| 1,678,960 1,593,540 85,420
O3222 ¥ HAl 933,840
—ol=Xeld JIIRS
71,950,000& 12 863,400
—BNEIE A3
370,000& 128 4,440
—ot==8 3| 3,600,000 * 13| 3,600
—SEZAl CEHY AISE
5,200,000& 12 62,400
OZLZMS SXIZE(20HA)
8,000,000 x20H 2~ x12& 192,000
O&E4LXHlZ ol==eiXl 2BHH|
1,000, 000& #2002~ x 128 24,000
Qalgal & AIZ&H| X4 33,000
Odlt=2d Xl AIZZE HDIZ2 Ml
170,000 *2,300E 391,000
OZeA saAAAY
100,000 *7H 700
Odtxe==48&E EK2IH]
260,000 *100= 26,000
OXIAIA (1002) Bt=Eed Xl 28|
5,500,000& 128 66,000
OTOCEA &H| R
500,000& *x2CH*12& 12,000
OHI&EHD)| 7
1,400 *100L*3CH 420
206 ME4| 175,000 187,500 A 12,500
01 28I 175,000 187,500 12,500
O+TABA A2 7Y
7,500,000 x12& 90,000
Oftezeill 24Hel %4E 2
5,000,000& 128 60,000
OZBQURZINE %4E 7Y
250,000& *100= 25,000
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CHol: BRADIZAIL B2l 29 (BRI FAILSHS|H) (Crel: a2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 AlZHIZL SO 1,608,500 1,204,500 404,000
01 Al&H| 1,608,500 1,204,500 404,000
OSEot-HelAlE Heduy =48y
800,000 *507H 2 40,000
OO0t=ot==XMelAl & 2+
10,000,000 *109H 2~ 100,000
O2=Xld HE=H| 20,000
O2aXlAlE JatEXl WXl
100,000,000 *19H 2 100,000
OXGAIE =ZH| WAl
1,500, 0002 * 157K 22,500
O3d=s=I ¢ HO0IQE 2= uH
20,000,000 *3JH 2 60,000
Odt=XelAIE HEeETy BO X
20,000,000 *30H 2 60,000
Odtet+t 28 % ZIIEX wH
120,000,000& * 2902 240,000
O23el g&dE g0 78 £X 100,000
Odtexeld I8 EA 30,000
Ow AS4HIOH, 28, 32, ¢8)
24,000,000 #4JH 2 96,000
OsHeld 7S ASHAHALE WL SAH 180,000
Ok= ot+=22 Tt X 2USEF3A 450,000
OSUHol o Ald= £X 30,000
O=gd =ZFsAd |2l 55,000
O=S¢d MHGHE Al 2ULIHE &9 55,000
405 AtatE=H 20,000 20,000
01 TR =SFISHI 20,000 20,000
O=x=ZAgA I L (RYEDI|, ==
=7+ MEII) 10,000
OTI|& HHEI| AXI(50HA)
2,000,000 *57H 2~ 10,000
SHIIZAE RIE=2Y 3,000,000 2,966,000 34,000
307 gl2to| & 3,000,000 2,966,000 34,000
05 212t =S 3,000,000 2,966,000 34,000
OSSot=ExXelA4 Q2E= 3,000,000
SFIIEAE JI=dE & O 3,054,000 410,000 2,644,000
401 A2 HIZL R 0HbI 3,054,000 410,000 2,644,000
01 Al&HI 3,064,000 410,000 2,644,000
O2024F Jl=dle EA(Gt=HeIAIE, o2
2) 2,151,000
OJl=dd HESA 903,000
EhrHerg I 1,300 1,300 0
402 2IZtA=01d 1,300 1,300
03 2IZ+LAETAIZHI 1,300 1,300
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SA - Z3F - SRA(3) - HRAEY

13,000,000 *10%




